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Question 1

8m399mos dmbsgdoms GHodo Country, Gmdgeog 8990mEadayEos 3asbol Lsgwydzgewby.
class Country

{ public:

Country ();

void setData(float, string );
void aboutCountry ( );
private:

float area;

string CapitalCity;

b

00399900 25653boOol JgLsdsdols FgddsMoE0s:
Select one or more:
a. Country () s®ob @abEBH®IEH™Go;

b. ®950bgdol bsfoedo 3esbol BmbJzool Lsmsm@ob LobEsguo d99gao Labobss:
void Country:: setData(float s, string city)

c. Country () s®ob 3mbLEGMIBHMOO;

d. ®950%gd0L 6sfowdo 3ewslol 6300l bomary@ol LobEsdbo 890gao Labolss:
void Country:: setData(float , string )

Question 2
30BLEHOMIEHMO96 30FsM0gdsd0 MHMIGEo JxgEMdSS FoMHMNJOIMO?

Select one or more:

a. 3mbBLEHOMJEHMOL 56 2598B0s oLEdMWBYdgo IB0TZbgEMds.
b. 3mBLEHONIEHMOO Fgodegds 0gml dBMEME 1356MIYGHOM

C. 30BLEGHOMIBHMOL  255hB05 OLHdOWBYdgeo IB0dZbgEMdS.

d. 3mBLEHOMIGHMMO - B3YEOsW OO §Gubd30ss, HMIGEog SHEIBL MdOYIEOL dmbs3gdgdoL Lafiyol

0603050BYOL

Question B
©ILAIEHMONE J0FoOH MG HMAgeo bR JMDSS IZMO?

Select one:

a. ILAM®YIEHMMO S53GHMTGHWOS© Podm0dsbgds 35906, HMEgLlsg MdOgJBHO dsol Imddggdols
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b. @gbEB®IEHMOL go9B60s ILIdOMBYdgo 36083690 mdS
C. @ILEH®WIEHMMOL Labgwo FgEygds ~ LOTIMEIMBS S JaEsbol Lobgeoligsb.

d. ©@bEAH®MIBHMO0 gfimgds J3esbol BMbdzost, GMIgwog galesbmEgds 3erslol MdOYYEHIdOL
“9650gMgdsL”.

Question 4
390 M39MGHMO0 SOl 0653039M0 MBdOYIEHJOOLIMZ0L FgblogMgdOL F6sFogd?

Answer: |

Question b
3sbol 9egdg639d%g §3omdol Msdgbo Mg000 sGLYdIMIL C++-807?

Select one:
a. 2
b. 1
c. 3
d. 4

Question 6

5 0d6905 36:maMsdol Fgltrryergdols G990 ?
. #include <iostream>

. using namespace std;

. class rect

- Aq

.int x, y;

. public:

. void val (int, int);

. int area ()

Aq

i. return (x *y);

10. }

11. };

12. void rect::val (int a, int b)

13. 4
14. x
15.y
16. }
17. int main ()

18. ¢

19. rect rect;

20. rect.val (3, 4);

21. cout << "rect area: " << rect.area();
22. return O;

23. }

Select one:

OCoNOTULLhA, WN -

a;
b;
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a. 30330o300l dg3mds, Moysbss 99-20 LEBH®OJMETo 3aEsliol bsbgwo s 33Ol Labgwo
9O»Msbgml gdmbggzs

b. rect area: 24
C. rect area: 12

d. 56390m0 Bgdmo Bsdmmzeowo

Question 7
3905 LmGo g3meds, GMmdgeog sofigdl, Gmd grad_student 3wstbo §sGdmodzs student

3sbob boggmdzgemby?
Select one or more:

a. class student : private grad_student
{...}

b. class grad_student : public student

{...}

c. class student : public grad_student

{
d

o)

. class grad_student : private student

{...}

Question 8
60390 m3gMoEMmMo go3m0ygghgds Imbszgdgdol o0 do gowslio@sbsw?

Select one:

a. >>

b. s63gOm0 Bgdmm Bsdmmzewowo
C. <

d. <<

Question 9

3039905 LAHOMIGHWOS, OMAMO FodMZo3bsIOM 59 LAMWIEMOOL HO30L X (33¢o©L?
struct rectangle{

float length;

float width;

3

Select one:

a. struct rectangle;
b. struct rectangle x;
c. struct x rectangle;

d. struct x;
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Question 10

5 8909L 459m0E9bL dm39dw90 3OHMAM5AS?
struct rectangle {

float length;

float width;

¥

int main(){

struct rectangle x;
x.length=12;

X.width=10;
cout<<x.length * x.width;

by

Answer:l

Question 11

LEAHOMIEAHOS OOl IMbSEIIMS G030, MdMIgedos

Select one:

a. 9wgdgb@gdo Mbs 0gml dbmemp Mogbzomo @odols;
b. yzgws 9egd96GH0 Mbs 0ogml gOHMbsoMo FHodol;
C. 909996900 dg0degds 0gmlb bzsslbgs GHodol;

d. y3gws 9egdgbBHo Mbs ogml dbmewmo GHgdu@wto GHodob;

Question 12
89mLsdsdgm gMmdsbgomls:

- Choose...
a->b Answer 1| 00se

* ch
a.b Answer 2| 00Se...

a.b Answer 3| Choose...
Question 13

dmggdaos gbjgos
void swap(int *x, int *y) {
int temp;

temp = *x;

*x = *y;
*y = temp;
return;

Lef Lef L
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}bJgool gsblsBrzmol dobggzom dgmbedsdgo dmddgwgdgdl dglisdsdobo gsbdsmGHgdgdo:

*y = temp; Answer 1=
temp = *x; Answer 2=

X = *y; Answer 3=

Question 14

0m 399905 3OMAM5TOL BOAIBEO:
struct C {

int x, y;

¥

C;

int main()

{

c.x=10;
c.y=20;
int* px = &c.x;
int* pxe= px ;
int* py = &c.y;

cout<<* pxe;

return O;

b
3MHmaModol IgbMeqdol G9ga0s:

Answer:|

Question 15

3964300L  255E30M™M35 FbYds, vy J9dmygbgdmwos:
Select one:

a. gybdEos, ®MIgEoE 990393 gOML 96 39¢) Bwbdsosl;
b. 35056 oo s B FbJz0s;

C. ™60 56 M5d9bodg BbdE0s, MHMIYOBSE 5930 9JOMbs0MO LEbYEo s 356M5dgEHMYdOL
239bLb353900 3H03gd0 96 MoMm©gbmdy;

d. 56390m0 Hgdmo s0b0d6wy0sb;

Question 16
3905 Lo goblabrg@s?

Select one or more:

a. strepy(sl, s2) - s1 by®ogdmbol 3m30Mmgds S2 bEBH®ogmbdo
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b. strcat(s1, s2) - s2 LEG®ogmbol 459H0569d5 S1 LEHGOJMbM6
C. strcpy(sl, s2) - s2 LEH®ogmbol 3m3069ds S1 LBG®odmbdo .

d. strcmp(sl, s2) - sd66gdL 0-b, ®vg S1 s S2 LEGHM®OJMbYdO JOPOWHOFOZgs; ) S1<S2
30M69dL MJoMymaom 3609369 mdl, ™M) S1>52 oYdom 3609369 @d.L

e. strcmp(sl, s2) - OGM69RL 1-U, 0wy S1 s S2 LEHMOJMBIdO JOMOWH0Y0395; M) S1<S2
00M69gdL 0-b vy S1>52 EsEIHdom 60369 ML

Question 17
39950009 dqLsdsdolo BwbJsogdo:

39bLsBEOZOMEO BoMmPIbMdOL LoddMWMgdoL 3M306Mgds 9ghmo  Answer 1

LE®ogmbosb dgm©9do | Choose...  +|
LOFIMEMYOOL B MJAOLEODY PoOY3965 r‘ghswer 2 J
00se... -
9600 LEH0JMboL 3M30MGds FgMm@H930 fgqswer 3 3
00se... -
Question 18

M5 5009300905 dm390wo g3MoRdbEHOL JgudmEqdol J9gAS:

char str1[10] = "Measuring";
char str2[10] = "Systems";
char str3[10] = "No name";
int len ;

strcpy( str3, strl);

cout << str3 << endl;

Answer: |

Question 19
65 500930905 Im(390990 BMR6GOL Tgbemergdol Jggyo©:

char stri[15] = "University ";
char str2[15] = "GTU Thbilisi";
strncat( stril, str2,3);

cout << strl << endl;

Select one:

a. Uni GTU Thilisi
b. University GTU
c. GTU Thbilisi Uni
d. GTU University

Question 20
39950509 9HMTbgNL :
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[Z)Ub|ICAnswer ll Choose...

class Answer 2| Choose...

struct Answer 3| Choose...

Question 21

0m 399905 99900930 LEBOL FoboiEboo

double x, y;

double & z = x ;

BOIMMZ0Wo56, HMIgeo doboFgdss Fgdser0EH0?

Select one or more:
a.z=Xx+Yy;
0.09;

=
<
I

c.z = &y;
d.x=y;

Lo Lo L



